PN R EE A B oD S i R

201846 H £ No.1

R/ H/12-0-1

HHA PEE | RS | A IR

i H(TP) -2 %—7 I EX! 5.45 0.06 1.0
‘ L2y r—7 EX" 7.79 0.07 0.9

7 V73 (ALB) -2 %—7 I EX! 3.59 0.05 1.3
L-1%—7 NEX" 5.14 0.06 1.1

FE—/L(TTT) -2 %—7 I EX! 0.78 0.09 11.9
T77 =V if i ** 1.99 0.17 8.7

77 V(ZTT) -2 %—7 I EX! 4.99 0.43 8.7
T77 = if 35 ** 7.29 0.50 6.9

B e (TBL) L-1v—7 [ EX! 0.33 0.05 14.4
-1 %—7 NEX" 2.59 0.04 1.5

B UL (DBL) L-1v—7 [ EX! 0.20 0.00 0.0
L-1%—7 NEX" 1.20 0.02 1.3

AST(GOT) L-2v%—7 1 EX*! 45.9 0.8 1.7
L-1%—7 NEX" 114.5 1.2 1.0

ALT(GPT) L-1%—7 1 EX*! 37.8 0.8 2.1
-1 %—7 NEX" 123.9 1.4 1.1

L.DH L-1%—7 1 EX*! 179.8 2.6 1.5
L2 t—7 NEX! 4428 5.8 1.3

ALP L-1%—7 1 EX" 205.3 2.3 1.1
L-1%—7 NEX" 428.3 4.6 1.1

LAP L-2%—7 1 EX" 471 0.7 1.5
L-1%—7 NEX"! 77.1 1.0 1.3

vy ~-GTP(GGT) L-2%—7 [ EX! 44.2 0.5 1.2
L2 t—7 NEX! 294.5 2.0 0.7

aY)xA77—t% (CHE) L-2%—7 [ EX! 269.2 2.9 1.1
L2y t—7 NEX! 393.8 3.9 1.0

CK (CPK) L-v—7 [ EX! 99.2 1.4 1.4
L-1%—7 NEX" 575.2 4.4 0.8

717 —E(AMY) -2 %—7 I EX! 97.4 1.7 1.7
L2 t—7 NEX! 234.1 3.8 1.6

JK 32 %€ 52 (BUN) L-2tv—75 1 EX! 15.17 0.20 1.3
-1 %—7 NEX" A7.24 0.56 1.2

717 F =2 (CRE) L-2tv—75 1 EX! 1.009 0.010 1.0
[~ v—7 NEX 5.618 0.039 0.7

JRIEZ(UA) -2 %—7 I EX! 3.71 0.06 1.7
L-1%—7 NEX"! 9.96 0.13 1.3

el A7 —/L(TCH) |L-2vt—7 1 EX"! 118.5 1.5 1.3
-1 %—7 NEX" 174.1 2.2 1.3

HHERER(TG) L-2tv—75 1 EX! 44.5 0.7 1.6
L-1%—7 NEX"! 64.8 0.8 1.3

*1:L—at—F [ EX, L2+ —FNEX|X, v MEFELTWET,
% 2:TZ7— VL. vy MEFE L TWET,

KB B NS EERIG A TS B EBICB LT FaW,

et f=2—V
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201846 H £ No.2

R/ H/12-0-1

HH4 A | R YRR 7= | 2R ER
HDLabA7e—W(HDL)  |[L-2vt—3 [ EX* 34.9 0.6 1.6
L-1v—7 NEX" 49.6 0.6 1.2

LDLab27e—W(ILDL)  |[L-2vt—3 [ EX* 66.6 1.0 1.5
(EfE) - v—7 NEX 98.1 1.5 1.5
U REE(PLP) L-2tv—7 1 EX! 154.9 1.5 1.0
L2y t—7 EX! 223.3 2.0 0.9

F R 2(Na) -2 %—7 I EX! 141.8 1.2 0.9
L2 t—7 NEX! 152.3 1.2 0.8

71— L(Cl) -2 %—7 I EX! 100.6 0.8 0.8
L2 t—7 NEX! 119.7 1.0 0.9

FUT LK) L-2tv—75 1 EX! 4.30 0.08 2.0
L-1v—7 NEX" 6.18 0.12 2.0

~7 27 (Mg) L-2v%—7 1 EX*! 1.85 0.05 0.7
L2y t—7 NEX! 4.00 0.07 1.7

J17v3 7 IN(Ca) -2 %—7 I EX! 8.40 0.16 1.9
-1 %—7 NEX" 13.25 0.21 1.6

R (IP) L-2tv—75 1 EX! 4.08 0.06 1.5
L-1%—7 NEX" 8.75 0.12 1.4

mygEkFe) L-2tv—75 1 EX! 128.9 1.3 1.0
L2 t—7 NEX! 231.6 1.7 0.7

M kE(GLU) L-2vt—7 1 EX! 96.2 0.6 0.6
-1 %—7 NEX" 300.8 1.4 0.5

CRP L-2vt—7 1 EX! 0.379 0.007 1.8
L2 t—7 NEX! 2.223 0.034 1.5

HbA1c(NGSP) IL47+Fzy/DM1 4.84 0.06 1.2
FA7 4F 9 DM2 8.98 0.08 0.9

A I EkEL(WBC) ~vhry =3 ba—) Ab(L) 3237 44 1.4
NN = VANSE AN 6995 99 1.4

JRILERZL(RBC) ~~vhay =3y ba—L Ab(L) 234.6 1.5 0.7
~vhay —ashp—L N 436.8 2.7 0.6

~E7ut(HGB) ~vboy =3/ ba—L Ab(L) 5.40 0.04 0.8
~vhay —ashp—)L N 10.95 0.05 0.5

~~F7URHCT) ~~hoy =2 ka1 Ab(L) 15.93 0.14 0.9
~=hey —aykE— N 32.86 0.19 0.6

/MR (PLT) ~7hry =2 ha—L Ab(L) 7.86 0.22 2.7
~=hey —aykE— N 93.44 0.37 1.6

*1:L—at—F [ EX, L2 —FNEX|T, v MEFELTWET,

KB B DN BERIG A TS B EBICB LT FaW,

et f2—V




